
Answer on Question 77263, Physics, Other 

Question: 

Light travels from flint glass into water. The angle of incidence is 40°. What is the 

angle of refraction? 

Solution: 

We can find the angle of refraction from the Snell’s law: 

𝑛1𝑠𝑖𝑛𝜃1 = 𝑛2𝑠𝑖𝑛𝜃2, 

here, 𝑛1 = 1.58 is the index of refraction of flint glass, 𝑛2 = 1.33 is the index of 

refraction of water, 𝜃1 = 40° is the angle of incidence, 𝜃2 is the angle of refraction. 

Then, from this formula we can find the angle of refraction: 

𝑠𝑖𝑛𝜃2 =
𝑛1
𝑛2

𝑠𝑖𝑛𝜃1, 

𝜃2 = sin−1 (
𝑛1
𝑛2

𝑠𝑖𝑛𝜃1) = sin−1 (
1.58

1.33
𝑠𝑖𝑛40°) = 50°. 

Answer: 

𝜃2 = 50°. 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

